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GEOS—Chem v9—01-03—Fix_for_IFORT12 Frequency Distribution

ctm.bpch.v9—01—-03—Fix_for_IFORT12 / ctm.bpch.v9—01-03r

NOx
- 0 0 0 0 0 2084  2.52 1.12 0.79 0.48 0.36 0.49 0.28 0.37 0.23 _—2B.66
Fo 0 0 0 0 1 18.57  1.80 0.84 0.59 0.42 0.36 0.34 0.31 0.43 027 o
=) 0 0 0 0 0 0.01 6.90 1.36 0.94 0.58 0.59 0.35 0.32 0.24 0.27 0.22
= 0 0 0 0 0 0.11 3.66 1.30 0.68 0.80 0.41 0.34 0.33 0.27 0.25 023
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

Ox
- 0 0 0 0 0 2486  6.79 0.50 0.25 0.05 0.02 2 3 3 0 _
Fo 0 0 0 0 0 29.62  2.71 0.42 0.09 0.03 0.01 6 4 0 0 =
=) 0 0 0 0 0 0 2031 1.19 0.33 0.24 0.04 0.01 3 7 0 0 _—
= 0 0 0 0 0 0 %m 0.14 0.07 0.02 0.01 7 3 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

PAN
- 0 0 0 0 0 3224 352 3.20 1.57 0.88 0.65 0.49 0.26 0.23 0.26 _ 435
Fo 0 0 0 0 0 13.74  2.68 3.06 1.28 0.74 0.55 0.35 0.42 0.25 0.19
=) 0 0 0 0 0 0 6.41 2.67 351 1.1 0.72 0.47 0.29 0.28 0.22 0.197]
= 0 0 0 0 0 0 4.50 3.30 1.64 1.14 0.82 0.44 0.34 0.24 0.37 0.3
= , , , _
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

CO
- 0 0 0 0 0 821 0 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 =
=) 0 0 0 0 0 7 0 0 0 0 0 0 0 0 0 0 _—
= 0 0 0 0 0 378 0 0 0 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

ALK4
- 2 0.04 0.53 0.70 2.21 4751 0 0 0 0 0 0 0 0 0 _
Fo 0.01 0.11 0.73 0.87 414 0.88 0 0 0 0 0 0 0 0 0 =
=) 0 0.03 0.34 0.74 1.16 0.03 0 0 0 0 0 0 0 0 0 _—
= 0 4 0.03 1.08 0.64 0 0 0 0 0 0 0 0 0 0
.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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GEOS—Chem v9—01-03—Fix_for_IFORT12 Frequency Distribution
ctm.bpch.v9—01—-03—Fix_for_IFORT12 / ctm.bpch.v9—01-03r

ISOP
P51 0.2 0.18 0.75 0.22 0.35 0.73 1.85 3.84 6.17 15.89  0.53 0.15 0.09 0.06 0.03 0.01 0.01 0.01 7 _ s
F0.10 0.15 0.19 0.91 0.27 0.34 1.01 2.85 4.90 6.60 146 0.44 0.18 0.09 0.06 0.03 0.01 9 0.03 9 =
= 0.10 0.22 0.45 0.21 0.28 0.58 1.33 2.86 4.90 8.27 0.90 0.27 0.14 0.08 0.05 0.03 0.01 0.03 0.02 5 _—
= 0.0 0.27 0.61 0.37 0.34 0.53 2.09 3.33 5.79 11.42 069 0.15 0.10 0.07 0.03 0.03 0.02 0.01 8 2
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
HNO3
- o 0 0 0 3 2 2 0.03 0.29 58.38  2.67 0.57 0.24 0.11 0.06 0.04 0.02 0.02 9 _d16
o 0 0 0 0 0 4 9 0.06 0.69 12.17  2.25 0.56 0.23 0.11 0.06 0.04 0.02 0.01 0.01 —
= o 0 0 0 0 0 6 0.02 0.10 1.82 3.73 1.88 0.34 0.21 0.10 0.05 0.02 0.01 0.01 6 _—
= o 1 0 1 0 4 7 0.02 0.13 0.84 0.28 0.17 0.06 0.03 0.03 0.01 7 oo
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
H202
- o 0 0 0 0 0 0 0 0 32.91  5.47 2.88 1.03 0.60 0.27 0.16 0.08 0.04 0.02 _T03
Fo 0 0 0 0 0 0 0 0 1 18.07  7.85 2.17 1.08 0.35 0.24 0.12 0.08 0.04 0.02 —
= o 0 0 0 0 0 0 0 0 0.01 6.89 4.44 1.63 0.78 0.32 0.20 0.12 0.05 0.04 0.a1
= o 0 0 0 0 0 0 0 0 0. 4.99 3.70 1.43 0.72 0.29 0.19 0.08 0.04 0.02 9
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
ACET
- o 0 0 0 0 0 0 0 0 bolss o 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0 o 0 0 0 0 0 0 0 0 0 —
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o _—
= o 0 0 0 0 0 0 0 0 0.11 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MEK
- o 0 0 0 0 6 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 3 0 0 0 0 0 0 0 0 —
= o 0 0 0 0 0 4 0 0 0 0 0 0 0 o _—
= o 0 0 0 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 1.05 1.10 1.15 1.20
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ALD2
100 = : : : : : : : —
80— —
o o 0 0 0 0 0 0 0 0.02 4168  1.81 1.03 1.04 0.80 0.76 1.38 0.90 0.74 0.47 _ =65
Fo 0 0 0 0 0 0 0 0 0.12 9.03 1.54 1.09 1.02 0.76 0.80 1.89 0.77 0.73 0.43
400 0 0 0 0 0 0 0 0 0.40 3.83 1.07 1.05 0.79 0.92 0.95 2.40 0.79 0.62 0.52
= o 0 0 0 0 0 0 0 9 1.07 0.95 0.89 0.77 1.19 0.88 0.72 0.53 0.3
20— —
ot , , , N b
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
RCHO
100 = : : : , : : : —
80— —
o o 0 6 003 003 007 034 140 491 26.28 002 0 0 0 0 0 0 0 0 _
Fo 0 0 4 0.02 0.05 0.11 0.27 2.05 9.32 1.02 2 0 0 0 0 0 0 0 0 =
400 0 1 6 0.02 0.06 0.51 0.53 2.34 1871 013 3 0 0 0 0 0 0 0 0 _—
= o 0 1 2 0.04 0.06 0.27 0.93 314 27.26  0.04 0 0 0 0 0 0 0 0 0
P H il'j H
ot , , , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MVK
100 = : : : : : : : —
80— —
g0l 0.20 0.07 0.11 0.30 0.27 0.51 1.91 1.40 5.20 19.23  0.39 0.02 9 4 0 0 0 0 0 _Tdo2
F0.05 0.07 0.07 0.13 0.17 0.39 0.36 0.65 1.98 8.81 2.29 0.16 0.03 8 1 2 1 1 0 0 —
40[—_0.04 0.20 0.23 0.17 0.22 0.27 0.51 0.96 2.25 15.66  1.11 0.11 8 0.01 2 1 0 2 0 0 _—
= 006 0.08 0.09 0.16 0.24 0.32 0.88 1.08 2.87 2597  0.48 0.06 6 8 0 0 0 1 0 0
“E é E
o= , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MACR
100 = : : : : : : : —
80— —
c036  0.06 0.12 0.11 0.18 0.37 0.27 0.73 1.55 3.90 24.04  0.94 0.22 0.05 0.02 7 3 2 2 1 _Tdo2
F0.06 0.07 0.12 0.15 0.20 0.27 0.79 0.64 1.57 6.37 8.40 0.50 0.12 0.05 0.03 5 0 0 1 1 —
40020 0.09 0.13 0.28 0.20 0.28 0.98 0.85 1.93 10.65  2.89 0.34 0.08 0.02 0.01 3 0 0 1 1 _—
= 005 0.25 0.11 0.16 0.20 0.44 1.33 1.06 2.80 18.97  1.98 0.30 0.04 0.02 7 2 0 0 0 1
P H‘ i% ‘H
o= , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PMN
100 = : : : , : : : —
80— —
col28 8 0.01 0.02 0.03 0.03 0.07 0.29 0.51 2.36 2376 1.68 1.16 1.00 0.97 0.84 1.91 0.49 0.36 0.31 _d62
= 9 8 0.03 0.03 0.05 0.07 0.15 0.89 3.69 4.74 1.50 1.10 1.14 1.09 0.89 0.92 0.45 0.34 0.31 —
400 4 0.01 0.02 0.03 0.06 0.09 0.32 1.05 6.69 2.64 1.39 1.19 0.94 0.74 0.82 0.58 0.43 0.31 0.297]
= 6 0.01 0.02 0.02 0.03 0.06 0.09 0.27 1.37 11.75  1.96 1.4 1.23 0.98 0.88 0.91 0.54 0.39 0.35 0.2
“E s | =
o= , =
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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PPN
100 = : : : , : : : —
80— —
o o 0 0 0 0 0 0 0 0 30.54  3.71 3.5 1.38 0.81 0.49 0.49 0.29 0.22 0.30 _=07
Fo 0 0 0 0 0 0 0 0 0 15.72 314 4.02 1.23 0.71 0.47 0.31 0.25 0.23 017 o
400 0 0 0 0 0 0 0 0 0 6.65 3.1 1.87 1.23 0.80 0.41 0.30 0.37 0.24 0.157]
= o 0 0 0 0 0 0 0 0 0. 4.30 3.99 1.78 0.90 0.56 0.35 0.29 0.26 0.21 0.19
20— —]
ot , , , -
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
R4N2
100 = : : : , : : : —
80— —
o o 0 0 0 0 0 0 0 0.05 4832 003 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0 0 0.21 3327  0.03 0 0 0 0 0 0 0 0 =
400 0 0 0 0 0 0 0 0 1.10 4.06 0.01 0 0 0 0 0 0 0 0 _—
= o 0 0 0 0 0 0 0 1 I 0.43 4 0 0 0 0 0 0 0 0
20— —
o= , , , , , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
PRPE
100 = : : : : : : : —
80— —
co@8  0.07 0.09 0.12 0.14 0.30 1.42 0.57 1.16 7.27 1414 9 2 0 0 1 0 0 0 0 _
F0.07 0.08 0.11 0.13 0.29 0.17 0.23 0.47 1.94 1419 1.38 6 1 0 0 0 0 0 0 0 =
40— 0.08 0.12 0.09 0.27 0.17 0.33 0.50 0.79 2.82 2050  0.36 3 2 0 1 0 0 0 0 0 _—
= 008 0.23 0.09 0.12 0.15 0.64 0.39 1.10 4.73 21.00  0.09 1 0 0 0 0 0 0 0 0
20— —
oE s il ~ | e
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
C3H8
100 = : : : : : : : —
80— —
o o 0 0 0 0 0 6 0.07 1.59 560 0 0 0 0 0 0 0 0 _
Fo 0 0 0 0 0 0 0.02 0.11 3.06 0 0 0 0 0 0 0 0 0 0 =
400 0 0 0 0 0 0 0.03 0.34 5.83 0 0 0 0 0 0 0 0 0 0 _—
= o 0 0 0 0 0 1 0.04 1.07 0 0 0 0 0 0 0 0 0 0
20— —]
o= , , , , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
CH20
100 = : : : : : : : —
80— —
o o 0 0 0 0 0 0.02 0.15 0.40 40.84  5.00 0.70 0.16 0.09 0.06 0.03 0.02 0.02 8 _ 004
Fo 0 0 0 0 0 1 0.07 0.17 0.48 18.40  2.26 0.83 0.14 0.07 0.19 0.02 0.02 0.02 9 —
400 0 0 0 0 0 4 0.05 0.27 0.59 13.07  1.58 0.39 0.24 0.05 0.03 0.02 0.02 6 7 _
= o 0 0 0 0 0 6 0.12 0.37 0. 1049  1.11 0.44 0.08 0.19 0.03 0.02 0.01 7 4
20— —
ot , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20



percent (%) percent (%) percent (%) percent (%)

percent (%)

100

(o]
o

(o2}
o

~
o

N
o

S o

100

(o]
o

(o2}
o

~
o

N
o

S o

100

(o]
o

(o2}
o

40

N
S o o

100

(o]
o

(o2}
o

40

N
S o o

100
80

60

40

20

GEOS—Chem v9—01-03—Fix_for_IFORT12 Frequency Distribution
ctm.bpch.v9—01—-03—Fix_for_IFORT12 / ctm.bpch.v9—01-03r

C2H6
- o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 _
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 =
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o _—
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.05 1.10 1.15 1.20
=1 3 1 0 0 0 0 2 4 8.89 4.19 1.95 1.46 1.20 0.88 0.77 0.43 0.37 0.41 _—20.43
= 1 0 0 1 1 1 1 3 7 1752  3.33 1.97 1.30 0.91 0.80 0.54 0.60 0.36 0.46 —|
= o 3 0 1 1 1 0 3 3 0.02 8.65 2.42 1.69 1.21 0.93 0.71 0.76 0.38 0.58 0.31
= o 0 1 1 1 4 0 1 2 0.15 5.28 2.35 1.50 0.99 0.76 0.61 0.45 0.51 0.51 0.2
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

HNO4
- o 0 0 0 0 0 0 0 0 18.14  3.04 1.32 1.1 1.01 0.81 0.65 0.45 0.66 0.44 _ b5
Fo 0 0 0 0 0 0 0 0 0 15.85  2.24 1.00 0.98 1.10 0.76 0.68 0.57 0.37 0.30 —
= o 0 0 0 0 0 0 0 0 3 7.37 1.75 1.27 1.08 0.92 0.72 0.64 0.39 0.34 0.30
= o 0 0 0 0 0 0 0 0 0.65 4.28 1.54 0.90 0.86 0.79 0.57 0.45 0.39 0.34 0.2
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

MP

- 1 3 2 0.02 0.04 0.06 0.27 0.28 2.4 4457 0 0 0 0 0 0 0 0 0 _
= 2 1 6 0.02 0.03 0.22 0.15 0.59 5.51 1.93 0 0 0 0 0 0 0 0 0 —
= 3 3 2 5 0.02 0.04 0.09 0.33 0.87 13.8 0.23 0 0 0 0 0 0 0 0 o _—
= 1 0 4 0.01 0.04 0.18 0.09 0.39 1.18 0 0 0 0 0 0 0 0 0
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20

DMS
EBQ0  0.42 0.56 0.67 0.86 0.83 1.06 1.61 2.97 5.67 19.80 7 3 1 0 0 0 0 0 0 _
F0.47 0.69 0.54 0.54 0.59 0.89 1.10 1.86 3.44 6.13 5.54 9 3 2 0 0 0 0 0 0 —
= 0.34 0.52 0.54 0.58 0.69 0.92 1.27 2.07 4.09 5.83 0.82 5 3 0 0 0 0 0 0 o _—
= 039 0.63 0.69 0.56 0.69 1.03 1.49 2.63 5.06 6.24 0.01 2 1 0 0 0 0 0 0 0
B %]\]Jljl_\ , , =
80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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S02
100 = : : : , : : : —
80— —
g0l 0.01 0.01 0.17 0.26 0.59 0.68 1.05 1.38 3.58 2313 0.15 0.05 3 5 3 0 0 0 0 _
) 7 0.02 0.07 0.14 0.73 1.03 0.88 1.58 6.84 1.24 0.11 0.05 0.02 3 1 0 0 0 0 =
407 0.01 0.03 0.08 0.19 0.47 0.69 0.94 1.78 14.83  0.53 0.11 0.03 0.01 4 1 0 1 1 0 _—
= o001 0.01 0.03 0.10 0.21 0.62 1.17 0.96 2.43 43 0.29 0.09 0.01 3 4 1 0 1 0 0
20— —]
o= , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
S04
100 = : : : , : : : —
80— —
o o 0 0 0 0 0 0 0 213 4577 204 007 002 003 7 3 6 2 0 _ 9
Fo 0 0 0 0 0 0 0 0 2.30 14.38  1.06 0.05 8 0.02 6 3 4 0 1 =
400 0 0 0 0 0 0 0 4 3.27 10.58  0.48 0.05 0.02 0.02 9 3 0 1 0 _—
= o 0 0 0 0 0 0 0 0.75 123 4.33 0.21 0.03 0.02 8 4 1 3 1 0
20— —
ot , , , , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
SO4s
100 = : : : : : : : —
80— —
goms 3 6 9 0.01 0.04 0.22 0.69 1.71 3.78 38.81 1.21 0.08 0.03 0.02 4 3 0 1 0 _ 8
=1 2 4 5 0.02 0.08 0.35 0.97 3.34 3.55 7.43 0.33 0.05 0.03 0.01 9 5 2 6 0 —
404 7 5 0.01 0.01 0.09 0.46 1.29 5.95 5.29 257 0.24 0.03 0.02 0.01 7 5 3 1 1 _—
= 3 6 0.01 0.02 0.02 0.16 0.63 1.54 4.06 12[7 1.73 0.12 0.03 0.02 4 4 4 3 0 1
20— —
oE —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
MSA
100 = : : : : : : : —
80— —
o o 0 0 0.04 0.09 0.48 2.33 3.44 10.48  2.06 0.08 0.03 0.02 3 6 5 2 0 0 _
Fo 0 0 0 0.08 0.12 0.65 2.71 4.55 12.65  0.25 0.05 0.03 0.02 5 4 4 2 0 0 =
400 0 0 0.01 0.08 0.18 1.29 2.21 4.99 18.58  0.11 0.05 0.02 5 9 5 1 1 3 0 _—
= o 0 0 0.02 0.08 0.28 1.31 2.84 6.97 2062  0.10 0.03 0.02 0.01 0.01 2 0 3 0 0
“E i% E
ot , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
NH3
100 = : : : , : : : —
80— —
colIs2  0.04 0.05 0.06 0.09 0.13 0.19 0.68 1.14 3.16 29.10  2.03 1.22 0.74 0.38 0.12 0.09 0.06 0.04 0.04 _ 90
F0.15 0.04 0.05 0.06 0.10 0.16 0.37 0.49 1.22 412 9.40 1.64 0.95 0.36 0.34 0.26 0.08 0.04 0.04 0.04 —
40[—_0.04 0.04 0.05 0.20 0.10 0.16 0.45 0.70 1.64 6.54 4.65 1.30 1.25 0.80 0.33 0.11 0.06 0.05 0.04 0.03]
= 003 0.04 0.06 0.07 0.12 0.19 0.32 0.69 2.47 9.96 2.86 1.23 0.99 1.4 0.29 0.09 0.06 0.05 0.04 0.0
E H \,J|.|A|:"|.f H
o= , —
0.80 0.85 0.90 0.95 1.00 1.05 1.10 1.15 1.20
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NH4
100 = , , , : , , , —
80— —]
o o 0 0 0 0 0 0 1 0.04 063  0.11 003 001 3 0 0 0 0 _
=) 0 0 0 0 0 0 0 3 0.12 037 005 002 3 1 1 1 0 CE——
40[=0 0 0 0 0 0 0 0 7 025 004 001 6 0 0 0 0 0_—|
= o 0 0 0 0 0 1 1 0.02 144 016 004 001 1 0 0 0 0 0=
20— —
o= , , , , ]
0.80 0.85 0.90 0.95 1.00 1.05 1.10 115 1.20
NIT
100 = , , , : , , , —
80— —]
GoZ#6 006 008 011 029 024 028 057 140 3.20 19.32  4.87 156 0.0 026 017 012 026 010 007 _73
o6 022 024 012 017 037 036 072 179 387 778  3.41 114 038 038 019 014 024 022 006 —
40[=0.06 008 011 013 018 026 058  0.86 204 480 544 248 063 033 040  0.16 0.1 009 008 0.5
= o009 008 0.1 030 035 027 060 103 243 735 4.47 1.61 065 026 020 015 0.1 007 022  0rf
20— —
== % =
0.80 0.85 0.90 0.95 1.00 1.05 1.10 115 1.20
NITs
100 = , _
80— —]
o 1 1 1 1 0.02 0.02 0.09 043 465 22.97 057 0.18 0.09 0.04 002 0.01 0.01 3 0 _To1
o 2 2 2 5 002 003 013 065 1332 374 036 047 010 003 002  0.01 6 8 5 O
40[=0 1 5 0 3 00z 005 017 1.06 18.98  1.53 028 014 007 003 001 0.01 7 0.01 0o_—|
= 1 0 1 5 9 003 008 027 203 2608 091 024 0.11 005 003 9 5 7 4 4=
P H L%’,{ H
0 = . -
0.80 0.85 0.90 0.95 1.00 1.05 1.10 115 1.20
BCPI
100 = , , , , , , , —
80— —]
o o 0 0 0 0 0 0 0 0 100.00 0 0 0 0 0 0 0 0 0 _
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o I
40[=0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0_—|
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0=
20— —
o= , , , , , , , ]
0.80 0.85 0.90 0.95 1.00 1.05 1.10 115 1.20
OCPI
100 = , , , , , , , —
80— —]
o o 0 0 0 0 0 0 0 0 100.00 0 0 0 0 0 0 0 0 0 _
o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o I
40[=0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0_—|
= o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0=
20— —
o= , , , , , , , ]
0.80 0.85 0.90 0.95 1.00 1.05 1.10 115 1.20
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